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TNGY941007 3,618 90.3 127 1322 626 233 110 955 473
TNGY941009 3,531 88.1 119 909 831 276 110 841 527
TNGY951005 3,534 88.2 126 925 759 282 110 881 503

TR962124 3,888 97.0 121 1016 68.7 322 108 106.6 46.6
CW986-122-1-1 3,967 99.0 121 12568 727 253 113 105.1 50.0
KHY4953 3,983 994 142 1052 813 252 110 93.8 525
KHY4962 3,678 918 139 1099 723 240 113 803 50.6
NKY991008 4162 1039 144 1028 798 257 111 88.3 5438
NKY1001038 4,098 1023 126 1213 731 262 112 954 558

CNSY992106 4,088 1020 165 1116 728 275 105 818 59.2
CNSY992137 4,571 1141 176 1125 698 271 104 804 604
CNSY992142 4,557 113.7 174 850 768 310 107 735 555

CSY112 4,003 999 193 949 715 238 110 79.0 531
CSY709 4537 1132 171 101.0 742 238 112 861 547
CSY901 3,184 795 194 882 672 231 113 807 512
CSY955 2,947 736 172 90.8 695 217 103 86.8 50.2
TCS17 (CK) 4,007 1000 157 873 77.7 298 105 736 56.3
702 4410 1101 117 1343 720 28.0 107 914 555
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(DIN1)en5,514 2 7 /2% 5 58 > Sdc » 5 143,369 ~/2F > &2 4 & 2 (CK1)
PR AT & 49,632 A/ o S H AT BB o RA T R AR
Feo BREE 24 2 & 0 R § F o 120 o 7 (D2N2)shfngk A § 3,382
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#1101 # 5 1~ 2 8 TR 308555 % §

#% N(kg/ha) D(cm) % EAT 1 2 s
1(809%-96) 121) -

o 1(80%-96) 2(24) B N67.2 B N28.8
L= 0/. _ _ _
2(100%-120)  1(21) N91.2 N28.8
2(100%-120)  2(24) — — —
1009%-120 1(21) 0 — 0 0 0
I = B
10095-120 2(24) —
22101 #5 1P IEFEw"2HAEN B
bt e % 41 (NT$/ha) fz » (NT$/ha)
- (kglha)  #E# s Esra F & RS ERE
CK 1 6,219 7,000 6,000 6,000 — 161,702 —
DIN1 6,285 9,000 4,800 1,500 3,700 163,406 5,405
DIN2 5401 9,000 6,000 1,500 2,500 140,433 -18,769
CK2 5,699 7,000 6,000 6,000 — 148,168 —
D2N1 6,105 9,000 4,800 1,500 3,700 158,738 14,270
D2N2 5762 9,000 6,000 1,500 2,500 149,818 4,150

1G5 mE" €120 2~ 7/2(CK1-CK2)
2N1:809%% witjg* £ ;N2: 1009% wi g* &
3.D1-CK1:21 2 A $E/4kie ; D2~ CK 2 : 24 2 A 3 ffk e
Ao r T ARX26 A2 T (34 forb 1)

23101 &5 28 MRk s EmAEnd

e i g £ 41 (NT$/ha) Jz ~ (NT$/ha)
CK 1 3,748 7,000 6,000 6,000 — 97,437 —
D1N1 5,514 9,000 4,800 1,500 3,700 143,369 49,632
D1N2 5,019 9,000 6,000 1,500 2,500 130,495 35,559
CK 2 4,676 7,000 6,000 6,000 — 121,576 —
D2N1 4,501 9,000 4,800 1,500 3,700 117,021 -855
D2N2 3,382 9,000 6,000 1,500 2,500 87,923 -31,153
WP e 4 2
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